




• Find out the alternative figure which contains figure (X) as its part.

• वह वैकल्पिक आकृल्ि ज्ञाि कील्िए ल्िसके भाग में आकृल्ि (X) ह।ै

X A B C D



• Two positions of a dice are shown below. When the number '1' is at the top, 

which number will be at the bottom?

• एक िासे की दो ल्थिल्ियाां नीचे ल्दखाई गई हैं। िब सांख्या '1' शीर्ष िर होिी ह,ै िो सबसे नीचे कौन

सी सांख्या होगी?

4 4

5661

A.4

B. 5

C. CND

D.6



• Four number-pairs are given, out of which three are alike in a certain way and 

one is different. Select the number-pair which is different from the rest.

• चार सांख्या-यगु्म ल्दए गए हैं, ल्िनमें से िीन एक ल्नल्िि िरीके से समान हैं और एक अलग ह।ै उस 

सांख्या -यगु्म का चयन कील्िए िो शेर् से ल्भन्न ह ै।

A.54-9

B. 126-21

C. 155-15

D.216-36



• Which of the following number will replace the question mark (?) in the given 

series?

• ल्नम्नल्लल्खि में से कौन-सी सांख्या दी गई शृांखला में प्रश्न ल्चह्न (?) को प्रल्िथिाल्िि करेगी?

• 4, 15, 48, ?, 444

A.147

B. 246

C. 96

D.126



• Arrange the given words in their dictionary order.

• ल्दए गए शब्दों को उनके शब्दकोश क्रम में व्यवल्थिि करें।

• 1. solitude

• 2. simplified

• 3. sound

• 4. signature

• 5. snake

A.45321

B. 41523

C. 42513

D.24531



• Aman started running from his school, he first ran 11 km towards South, then 

he turned towards West and ran √23 km in the same direction. How far (in km) 

and in which direction is Aman from his school now?

• अमन ने अिने ल्वद्यालय से दौड़ना शरुू ल्कया, वह िहले 11 ल्कमी दल्िण की ओर दौड़ा, ल्िर वह 

िल्िम की ओर मडु़ा ििा उसी ल्दशा में √23 ल्कमी दौड़ा। अमन अिने ल्वद्यालय से अब ल्किनी दरू 

(ल्कमी में) और ल्कस ल्दशा में ह?ै

A.10, South-West

B. 15, South-East

C. 12, South-West

D.17, South-East



• In a certain code language, "IS" is coded as "169" and "AM" is coded as "11". 

How will “IN” be coded in that code language?

• एक ल्नल्िि कूट भार्ा में, "IS" को " 169" और "AM" को "11" के रूि में कूटबद्ध ल्कया िािा 

ह।ै उसी कूट भार्ा में "IN” को ल्कस प्रकार कूटबद्ध ल्कया िाएगा?

A.23

B. 124

C. 128

D.126



• A street vendor pushes his cart 2 km to the south, then he turns to the east and 

walks 2.5 km, then he turns to the north and walks 1 km, then he turns to his 

left and walks 2.5 km. Let's go Where is he from his starting point?

• एक रेहड़ी वाला अिनी रेहड़ी को 2 ल्कमी दल्िण की ओर धक्का दिेा ह,ै ल्िर वह िवूष की ओर 

मडु़िा ह ैऔर 2.5 ल्कमी चलिा ह,ै ल्िर वह उत्तर की ओर मडु़िा और 1 ल्कमी चलिा ह,ै ल्िर वह 

अिने बाई ां ओर मडु़िा ह ैऔर 2.5 ल्कमी चलिा ह।ै वह अिने प्रारांल्भक ल्बांद ुसे कहााँ िर ह?ै

A.3 km south

B. 1 km north

C. 3 km north

D.1 km south



• What was the day of the week on 15th August 2013?

• 15 अगथि 2013 को सप्ताह का कौन सा ल्दन िा?

A.Thursday

B. Tuesday

C. Wednesday

D.Monday



• In the following question, select the odd word pair from the given alternatives.

• ल्नम्नल्लल्खि प्रश्न में, ल्दए गए ल्वकपिों में से बेिोड़ शब्द की िोड़ी चलु्नए ।

A.माांसाहारी : बाघ

B. शाकाहारी : गाय

C. खरगोश : शाकाहारी

D.सवाषहारी : कुत्ता



• Four letter-clusters are given, out of which three are alike in some way and one 

is different. Select the odd letter-cluster.

• चार अिर-समहू ल्दए गए हैं, ल्िनमें से िीन ल्कसी प्रकार से एक समान हैं और एक ल्भन्न ह।ै बेिोड़ 

अिर-समहू का चयन कील्िए।

A.LMH

B. UVS

C. HIF

D.YZW



• Select the option that is related to the third number in the same way as the 

second number is related to the first number.

• उस ल्वकपि का चयन कील्िये िो िीसरी सांख्या से उसी प्रकार सांबांल्धि ह ैल्िस प्रकार दसूरी सांख्या, 

िहली सांख्या से सांबांल्धि ह।ै

• 256 : 13 :: 676 : ?
A.26

B. 23

C. 24

D.25



• From the given alternatives, select the option in which the set of numbers does 

not follow the same logic/rule/relation as the set of numbers given below.

• ल्नदशे ल्दए गए ल्वकपिों में से उस ल्वकपि का चयन कील्िये ल्िसमें सांख्याओ ां के समहू नीचे ल्दए

गए सांख्याओ ां के समहू के समान िकष  / ल्नयम / सांबांध का अनसुरण नहीं करिे हैं।

• (13, 9, 117)

A.(19, 8, 162)

B. (18, 6, 108)

C. (14,7,98)

D. (17, 5, 85)



• Z × Y' means Z is the daughter of Y.

• 'Z + Y' means Z is the husband of Y.

• 'Z - Y' means Z is the sister of Y.

• Which of the following option is correct according to 'R + P-O × Q'?

A.R, Q का साला ह।ै

B. R, P का चाचा ह।ै

C. R, O का िीिा ह।ै

D.Q, R की सास ह।ै



• Three of the following four words are alike in a certain way and one is 

different. Select the odd one out.

• ल्नम्नल्लल्खि चार शब्दों में से िीन एक ल्नल्िि िरीके से समान हैं और एक ल्भन्न ह।ै बेमेल को चनुें।

A.Realme

B. Nokia

C. Tesla

D.Samsung



• Statement:

• Some pins are roses./कुछ ल्िन गलुाब हैं। 

• No rose is machine./कोई गलुाब मशीन नहीं ह।ै

• Conclusion:

• 1. Some roses are pins./कुछ गलुाब ल्िन हैं।

• II. Some pins are not machines./कुछ ल्िन मशीन नहीं हैं।

• III. All machines are pins./सभी मशीन ल्िन हैं।



• How many triangles are in the figure?

• आकृल्ि में ल्किने ल्िभिु हैं?

A.10

B. 8

C. 12

D.11



• By 20 minutes past 4, the hour hand has turned through how many degrees? If 

then the clock is 12 p.m.

• 4 बिकर 20 ल्मनट िर घांटे की सईु ल्किने ल्िग्री घमू चकुी ह?ै यल्द िब घड़ी दोिहर के 12 बििी 

ह।ै

A.100°

B. 110°

C. 120°

D.130°



• In a class A is 19th from the left end and B is 17th from the right end. If they 

interchange their position then position of A became 28 from left corner then 

find out total strength? 

• एक किा में A बाएां छोर से 19वें थिान िर ह ैऔर B दाएां छोर से 17वें थिान िर ह।ै यल्द वे अिना 

थिान आिस में बदल लेिे हैं िो बाएां कोने से A का थिान 28 हो िािा ह,ै िो कुल सांख्या ज्ञाि 

कील्िए?

A.46

B. 36

C. 44

D.CND


